NAME OF THE DISTRICT :SALEM

	at	tion (Total n a PU (4)		PU	Proposed PU Ward (6)																						
S.no	Name of the panchayat union	2011 census population	Sanctioned Strength (To PU Wards	Avearge Population in a Ward col.(3)/col. (4)	Proposed PU Ward No	Name Of the Panchayts in the PU Ward	Population Proposed PU Ward	Difference in Population PU Ward From Average Population col.(6c)- col.(5)	Percentage of difference from Average Population col.(7)X/col.(5)	Remarks																	
(1)	(2)	(3)	(4)	(5)	(6a)	(6b)	(6c)	(7)	(8)	(9)																	
1		77476	11	7043.273	1	Gonur 2,3,4,13,14,15	7902	858.727	12.19																		
2		77476	11	7043.273	2	Gonur 1,7,8,9,10,12	7324	280.727	3.99																		
						Gonur 5,6,11																					
3		77476	11	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	7043.273	3	7043.273 3	Veerakkal 1,2,3,4,5,6,7,8,9	6958	-85.273	-1.21	
4		77476	11	7043.273	4	Sanarapatti 1,2,3,4,5,6,8,9,10,	6704	-339.273	-4.82																		
5	77476 77476	11	7043.273	- E	Sanarapatti 7,11,12	6108	-935.273	-13.28																			
5				Soorapalli 2,7,8,13	0100	-900.270	-13.20																				

6		77476	11	7043.273	6	Periyasoragai 1,2,3,4,5,6,7,8	7737	693.727	9.85	
7	Nangavalli	77.470	44	7042.072	7	Periyasoragai 9,10,11,12	6075	400.070	2.20	
7		77476	11	7043.273	7	Chinnasoragai 1,2,3,4,5,6,7,8,9	6875	-168.273	-2.39	
8		77476	11	7043.273	8	Soorapalli 1,3,4,6,9,10,11,12	8298	1254.727	17.81	
						Soorapalli 5,14,15				
9		77476	11	7043.273	9	Avdathur 2,3,10,11,12	6937	-106.273	-1.51	
10		77476	11	7043.273	10	Avadathur 1,4,5,6,7,8,9	7103	59.727	0.85	
10		77476	11	7043.273	10	Dhoramangalam 2,3	7103	59.727	0.65	
11		77476	11	7043.273	11	Dhoramangalam 1,4,5,6,7,8,9	7210	166.727	2.37	
		77470	11	1043.213	11	Karikapatti 1,2,3,4,5,6,7,8,9	7210	100.727	2.31	
							71946			

ANNEXURE II(b) (PANCHAYAT UNION WARD)

DATA ON DRAFT WARD DELIMITATION PROPOSAL

NAME OF THE DISTRICT :SALEM

1	Proposed PU Ward No	1
2	Name of the Village Panchayat(s) covered in the Proposed PU Ward	Gonur 2,3,4,13,14,15
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	7902
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Mecheri block
7	East	Mecheri block
8	South	Veerakkal Pudhur Town Panchayat
9	West	Gonur West
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT :SALEM

1	Proposed PU Ward No	2
2	Name of the Village Panchayat(s) covered in the Proposed PU Ward	Gonur 1,7,8,9,10,12
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	7324
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Mecheri Block
7	East	Gonur East
8	South	Veerakkal Pudur Town Panchayat
9	West	Reserve Forest
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT: SALEM

1	Proposed PU Ward No	3
2	Name of the Village Panchayat(s) covered in	Gonur 5,6,11
	the Proposed PU Ward	Veerakkal 1,2,3,4,5,6,7,8,9
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	6958
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Veerakkal Pudhur Town Panchayat
7	East	Mecheri block
8	South	Vanavasi Town Panchayat
9	West	PN Patty Town Panchayat
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

ANNEXURE II(b) (PANCHAYAT UNION WARD)

DATA ON DRAFT WARD DELIMITATION PROPOSAL NAME OF THE DISTRICT :SALEM

1	Proposed PU Ward No	4
2	Name of the Village Panchayat(s) covered in the Proposed PU Ward	Sanarapatti 1,2,3,4,5,6,8,9,10
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	5024
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Vanavasi TownPanchayat
7	East	Vanavasi TownPanchayat
8	South	Edapadi block
9	West	Vanavasi Reserve Forest
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT :SALEM

1	Proposed PU Ward No	5
2	Name of the Village Panchayat(s) covered in the	Sanarapatti 7,11,12
	Proposed PU Ward	Soorapalli 2,7,8,13
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	6108
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Vanavasi Town Panchayat
7	East	Surapalli East
8	South	Jalakandapuram Town Panchayat
9	West	Sanarapatti Panchayat
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT: SALEM

1	Proposed PU Ward No	6
2	Name of the Village Panchayat(s) covered in the Proposed PU Ward	Periyasoragai 1,2,3,4,5,6,7,8
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	7737
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Nangavalli Town Panchayat
7	East	Tharamangalam block
8	South	Tharamangalam block
9	West	Periyasoragai West
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT: SALEM

1	Proposed PU Ward No	7
2	Name of the Village Panchayat(s) covered in the	Periyasoragai 9,10,11,12
	Proposed PU Ward	Chinnasoragai 1,2,3,4,5,6,7,8,9
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	6875
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Mecheri Block
7	East	Tharamangalam Block
8	South	Periyasoragai South
9	West	Soorapalli Panchayat
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT :SALEM

1	Proposed PU Ward No	8
2	Name of the Village Panchayat(s) covered in the Proposed PU Ward	Soorapalli 1,3,4,6,9,10,11,12
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	8298
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Sanarapatti Panchayat
7	East	Surapalli Panchayat East
8	South	Jalakandapuram Town Panchayat
9	West	Edapadi block
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT: SALEM

1	Proposed PU Ward No	9
2	Name of the Village Panchayat(s) covered in the	Soorapalli 5,14,15
	Proposed PU Ward	Avdathur 2,3,10,11,12
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	6937
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Soorapalli North
7	East	Tharamangalam Block
8	South	Thoramangalam Panchayat
9	West	Jalakandapuram Town Panchayat
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT: SALEM

1	Proposed PU Ward No	10
	Name of the Village Panchayat(s) covered in the	Avadathur 1,4,5,6,7,8,9
2	Proposed PU Ward	Dhoramangalam 2,3
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	7103
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Avadathur North
7	East	Jalakandapuram Town Panchayat
8	South	Edapadi Block
9	West	Edapadi Block
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

NAME OF THE DISTRICT :SALEM

1	Proposed PU Ward No	11
2	Name of the Village Panchayat(s) covered in the Proposed PU Ward	Dhoramangalam 1,4,5,6,7,8,9
		Karikapatti 1,2,3,4,5,6,7,8,9
3	Avearge Population Of The a PU Ward	7043.273
4	Population i in the Proposed PU Ward	6689
5	Boundaries of the Proposed PU Ward Concerned	
6	North	Jalakandapuram Town Panchayat
7	East	Konganapauram block
8	South	Edapadi block
9	West	Edapadi block
10	If the population arrived is lesser/higher than the Average population of the PU Ward Of the 2017 Local body, the reason thereof may be mentioned	
11	Remarks if any	

Place:	
Date	Signature
	Name
	Designation

ANNEXURE - IV(b) (PANCHAYAT UNION WARD) CONSOLIDATED DELIMITATION PROPOSAL FOR NANGAVALLI PANCHAYAT UNION WARD

NAME OF THE DISTRICT: SALEM

NAME OF THE PANCHAYAT UNION: Nangavalli

Ward	Total Population	Boundaries of Ward			
No.		North	East	South	West
1	2	3	4	5	6
1	7902	Mecheri block	Mecheri block	Veerakkal Pudhur Town Panchayat	Gonur West
2	7324	Mecheri Block	Gonur East	Veerakkal Pudur Town Panchayat	Reserve Forest
3	6958	Veerakkal Pudhur Town Panchayat	Mecheri block	Vanavasi Town Panchayat	PN Patty Town Panchayat
4	5024	Vanavasi TownPanchayat	Vanavasi TownPanchayat	Edapadi block	Vanavasi Reserve Forest
5	6108	Vanavasi Town Panchayat	Surapalli East	Jalakandapuram Town Panchayat	Sanarapatti Panchayat
6	7737	Nangavalli Town Panchayat	Tharamangala m block	Tharamangalam block	Periyasoragai West
7	6875	Mecheri Block	Tharamangala m Block	Periyasoragai South	Soorapalli Panchayat
8	8298	Sanarapatti Panchayat	Surapalli Panchayat East	Jalakandapuram Town Panchayat	Edapadi block
9	6937	Soorapalli North	Tharamangala m Block	Thoramangalam Panchayat	Jalakandapuram Town Panchayat
10	7103	Avadathur North	Jalakandapura m Town Panchayat	Edapadi Block	Edapadi Block
11	7210	Jalakandapuram Town Panchayat		Edapadi block	Edapadi block
Total	77476				